OMAL S.p.A. Societa Benefit
REAE - EXFHMEAZRLE (BS) FELEFHFILE (Rodengo
Saiano) , Via Ponte NuovoK#HNS

A
by "

b AU HETHhE - EAFEAEABZALE (BS) AFEHNE (Passirano) |, Via
-

TOMATION BrognoloX#125

r

FEIE.+39 0308900145 £ H.+39 0308900423

Warning: filectime(): stat failed for
Nar/www/vhost/www.omal.it/htdocs/https:;//www.omal.it/./FilesProdotti/RICEVUTADEPOSITOF.TATEXN.AP-18.pdf in
/var/www/vhost/www.omal.it/htdocs/prodotto-printable.php on line 65

Warning: filectime(): stat failed for /var/www/vhost/www.omal.it/htdocs/https:;//www.omal.it/./FilesProdotti/34-Certificate-
202029301-OMAL-AttuatoriSRSRNDADAN.pdf in /var/www/vhost/www.omal.it/htdocs/prodotto-printable.php on line 65

Warning: filectime(): stat failed for /var/www/vhost/www.omal.it/htdocs/https:;//www.omal.it/./FilesProdotti/TAPO0001G5-
revisionl.pdf in /var/www/vhost/www.omal.it/htdocs/prodotto-printable.php on line 65

Warning: filectime(): stat failed for /var/www/vhost/www.omal.it/htdocs/https:;//www.omal.it/./FilesProdotti/UITGOGO1-
UITGOGOIATX-FogliettolstruzioniAttuatoriAGO.pdf in /var/www/vhost/www.omal.it/htdocs/prodotto-printable.php on line
65

Warning: filectime(): stat failed for /var/www/vhost/www.omal.it/htdocs/https:;//www.omal.it/./FilesProdotti/UMAAPV0O-

AGOHANDWHEEL-attuatoriconvolantinointegrato-IT.pdf in /var/www/vhost/www.omal.it/htdocs/prodotto-printable.php
on line 65

AGO HANDWHEEL - SR# 5,
i — R TR TS

R SEPITE

/N AGO HANDWHEEL - # U — (AL F 41725

TR


https://www.omal-automation.cn/%E4%BA%A7%E5%93%81/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/
https://www.omal-automation.cn/%E4%BA%A7%E5%93%81/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/%E9%9B%86%E6%88%90%E6%89%8B%E5%8A%A8%E6%8E%A7%E5%88%B6%E7%9A%84%E6%89%A7%E8%A1%8C%E5%99%A8/

L N

1. BRI B B A
MAREESEIRZ RREREN ;
RMERIER | IRl i SR A AE.

2,518, EEFMESNHEE B B350 HRC
R TRENER L

3ELFAANTEEZ [BIRREN AR
BN EER N

4RFNERIT R (B ERNTER BN |, WA aleEsh).
TREERNEENH Z R BRSNS D FER AR

FTIFMKIMN A & E3RpR shAsE

TR AAPITE  ARIEN, RETEFRER

AR TFERMERNRITE | HEEE/N-30% Kg/Nm) , 2215 ERHRHIM AT FERAA

MR TFERITE AT , HESEER, (WK @ -40% T cm?/Nm ; B3 : -20% =X cm3/Nm) ,

~FEYE..

S.TEENELIR
BERETEIRMRERNEE | AR BT .

6. Stainless Steel shaft
Higher corrosion resistance

B DAN15E! S #2318 NAMU R AR §43 0
Toi R BRI

TEOMALB B RIENTTRE RS
N EANMER RS

ATEXGAUE
Al RFETIRIESRAIER

REIESILIERAIAE
EEMIETREEFR

Be environmentally friendly..please don't print this document unless you really need to.

OMAL S.p.A. Societa Benefit

SERAE - BAFHAMERERLE (BS) FEXFFIE (Rodengo

Saiano) , Via Ponte NuovoK#HNS

HE it  BARHEMERETLE (BS) PHFIHIE (Passirano)

, Via

Brognolo X125

REB B YRR ERYLIN TR |, SRERER/NR

FEIE.+39 0308900145 £ H.+39 0308900423
o]

2/17


https://www.omal-automation.cn/ImmaginiProdotti/Pallinato-AGO-SR.png

OMAL S.p.A. Societa Benefit
REAE - EXFHMEAZRLE (BS) FELEFHFILE (Rodengo

A
- n I n Saiano) , Via Ponte Nuovo XK=
b
- At

r

BIE bt - EAFEFEAFAL A (BS) MAFERNE (Passirano) , Via
TOMATION BrognoloX#125

FEIE.+39 0308900145 £ H.+39 0308900423

[T

BARSE

HEAFI0ONM~1920NmM 2 [A],

JEZFEORRAE - EN ISO 5211

FO5 - FO7 - F10 - F12 - F14 - F16

BEI15714-3hFhE

MEFEMEE 0 92°(-1°, +91°)

FeEHAE - IR BN AR SR IR T RN , SHEENTXR, REAREE4MREALE ; BKES LEE.
BEIMEET TSRS |, STNEFhKA.

SFEE—AHRITE , SRNVEAEFEIST T H k5 .6barb A2 shifseE (Nm).

ATEXINERISTFERE (2014/34/UE) ATEXBAGESB]. *ATEXELSHMRRDRELF M YX”

BTSN

B -20°C~+80°C, (4FIKHLS : 5iR=-20°C~+150°C ; {KiR=-50°C~+60°C)
HEES : 5.6bar ; JEfElLES @ 8.4bar,

KR - THEIBEESTIRNERETS.

ETEIEET | 5 A SNBRM BARFRAIHERL.

WMBEFE  REBIEM/ 4 HPITR AT IETFIRYRE.,

AR AL S AT R — S

AT ERERIFETHRIFRERTMT R | ERFIRYCREPITEMRIEZ AT , DI EFHHRIIIPITR M EE R W,
FHRPRETEREATIIPITRNERIIRENAMS , RATFRIAEFSEN 12570551 | M HEES T RATSRMIRE AsEE.

\_ Be environmentally friendly..please don't print this document unless you really need to. 3/17



[T

OMAL S.p.A. Societa Benefit

BEpdE - EAFEHEABFTALE (BS) FHELFHFLWE (Rodengo
Saiano) , Via Ponte Nuovo XK=

HIE Hht - RARRFEAETLEE (BS) PAFHLE (Passirano) , Via
Brognolo X125

FEIE.+39 0308900145 £ H.+39 0308900423

SRNV 30 + SRNV 960

’ ]
€ i
1 )
D C
—t b _ T _
e P —— O -
AR,
o f
(Dr ki I [ ,
i M5 ) !
IS
e &
+ } W -/Ooq;i _’T 1
o ) __'
1 L L
24 |
v
Lhi! ~ -
[ & | w2
S 8 Ly 2 TR T[
B )| . S %@\ = ﬂ%’j_ | - |

H

3(VDIVDE 3845)

\L Be environmentally friendly..please don't print this document unless you really need to. 4 /17


https://www.omal-automation.cn/ImmaginiProdotti/1143.jpg

=omo

L N

OMAL S.p.A. Societa Benefit
BB - EAMEMEAERLTE (BS) FEXGFFIWE (Rodengo
Saiano) , Via Ponte Nuovo XK=

FIE T - EAFEFNEAFATE (BS) MHFERAE (Passirano) |, Via
TOMATION BrognoloX#125

r

o H3E +39 0308900145 {41 .+39 0308900423

185 SRNV0030401SSRNV0030402S SRNV0053401S SRNV0060401S SRNV0090401S SRNVO0120
BHEHS KGGIO016VX KGGIOO01eVX | KGGIO06OVX | KGGIOO18VX KGGIOOI9VX | KGGI002

R=F SRNV 30 SRNV 30 SRNV 53 SRNV 60 SRNV 90 SRNV I
ISO FO4 FO5/FO7 FO5/FO7 FO5/FO7 FO7/F10 FO7/F1
A 392,77 392,7 431,4 4577 5349 558,5
B 14 14 17 17 22 22
C x depth M5x8 M6Xx9 M6x9 M6x9 M8x12 M8x1z
D x depth - M8x12 M8x12 M8x12 M10x15 M10x1!
E 42 50 50 50 70 70
F - 70 70 70 102 102
G 13 13 13 13 16 17
H 33,7 33,7 40,8 42,8 52,5 56,1
J 18 18 18 18 18 18
K 14 14 14 14 14 14
I 10 10 12 12 15 15
L 90,4 90,4 103,3 107 137,5 1411
M 37,7 37,7 44,8 46,8 56,5 60,1
N 52,7 52,7 58,5 60,2 81 81
O 16,5 16,5 19,3 19,3 24,8 24,8
p 32,7 32,7 38,5 40,2 51 51
Q 37,7 37,7 44,8 46,8 56,5 60,1
R 14,5 14,5 16,2 18 20,2 22,5
S 20 20 20 20 30 30
T 70,4 70,4 83,3 87 107,5 m)
U 129,4 129,4 152,1 169,3 196,8 204,8
V 180 180 180 180 220 220
W (1K) /8" /8" 1/8" 1/8" /8" /8"
X 4 4 4 4 4 4
Y 137,6 137,6 154.,8 163,9 183,5 199,1
Z 263,3 263,3 279,3 288,4 338,1 353,7
Ch 13 13 17 17 22 22
3304 11 1 13 14 16 18
FE(Kg) 32 32 45 53 6,8 9
{iﬁi 017 0,17 0,3 0,33 0,55 0,8
(dm>/cycle)

* WEAGLE XH)/FF B RIEIL R,

Be environmentally friendly..please don't print this document unless you really need to. 5/17



=omo

L N

OMAL S.p.A. Societa Benefit

BEpdE - EAFEHEABFTALE (BS) FHELFHFLWE (Rodengo
Saiano) , Via Ponte Nuovo XK=

TOMATION HIE Hht - RARRFEAETLEE (BS) PAFHLE (Passirano) , Via
Brognolo X125

r

. FE1E.+39 0308900145 {£H.+39 0308900423

185 SRNV0360401S SRNV0480401SSRNV0480402S SRNV0720401SSRNV0720402S SRNV096
BHEMH | KGGI0023VX | KGGI0024VX KGGI0024VX | KGGIO025VX | KGGIO025VX | KGGIOO:Z

R~ SRNV 360 SRNV 480 SRNV 480 SRNV 720 SRNV 720 SRNV ¢
ISO F10/F12 F10/F12 Fl4 Fl4 F12 Fl4
A 810,1 8424 8424 1035,4 1035,4 1067,
B 27 36 36 36 36 46
C x depth M10x15 M10x15 M16x24 M16x24 M12x18 M16xz
D x depth M12x18 M12x18 - - - -
E 102 102 140 140 125 140
F 125 125 - - - -
G 19,5 19,5 19,5 19,5 19,5 18,5
H 61,5 78 78 86,5 86,5 99,2
J 16 16 16 16 16 16
K 16 16 16 16 16 16
I 22 24 24 27 27 32
L 178 198 198 216 216 237,
M 78,5 93,5 93,5 101,5 101,5 14,7
N 99,5 104,5 104,5 Nn45 Nn4,5 123
O 29,5 38,5 38,5 38,5 38,5 48,5
P 69,5 74,5 74,5 84,5 84,5 93
Q 78,5 93,5 93,5 101,5 101,5 14,7
R 31,8 36,5 36,5 41 41 46
S 30 30 30 30 30 30
T 148 168 168 186 186 207,
U 306,6 324 3241 399 399 414
\% 350 350 350 400 400 400
W (K4k) 1/4" 1/4" 1/4" /4" 1/4" 1/4"
X - - - - - -
Y 2823 297,1 297,1 365,6 365,6 382
z 503,5 518,3 518,3 636,4 636,4 653,"
Ch 27 27 27 36 36 36
L2 19 20 20 25 25 26
FE(Kg) 19,5 28,1 28,1 38,8 38,8 50,6
ﬁiﬁi 2 2,8 2,8 42 42 59
(dm>/cycle)

* WEAGLE XH)/FF B RIEIL R,

Be environmentally friendly..please don't print this document unless you really need to. 6/17



OMAL S.p.A. Societa Benefit

& - EAFENEAEATE (BS) WFEHLE (Passirano)

Brognolo X125

FE1E.+39 0308900145 {£H.+39 0308900423

315.5

y N ®
T REAE - EXFHMEAZRLE (BS) FELEFHFILE (Rodengo
—_.. I Saiano) , Via Ponte Nuovo X115
b , Via
— AUTOMATION
b 1399.7 i
i3 508.5 e 890.2 4|
L 537.5 =
o f
o o |
M20x30
i : =
: i
T [ =) “
(=
165 |
'1
n : N5 3 (Namur 2) g
! 14-3 Namur 2 inferface
MEx10 o ¢
38" GAS
wn
oo
B
) i =]
|
ENISO 521 ]
130 _ [
32h11 |
by 8] 1] M5x6

©

MEx12

\__ Be environmentally friendly..please don't print this document unless you really need to.

7/17


https://www.omal-automation.cn/ImmaginiProdotti/1144.jpg

OMAL S.p.A. Societa Benefit
BEpdE - EAFEHEABFTALE (BS) FHELFHFLWE (Rodengo
Saiano) , Via Ponte Nuovo XIS

A
..

. AU BIE b - EAFIEFEMRZALEE (BS) PAFEHE (Passirano) |, Via
~

r

TOMATION Brognolo X125

FEIE.+39 0308900145 £ H.+39 0308900423

1AL SRNV1920E1608A
BHEH KGGI0230VX
R~ SRNV 1920
|ISO F16
L2344 30
EE (kg) 91
#HSE(dm3/cycle) 12,5

* BB XA/ TR i,

\_ Be environmentally friendly..please don't print this document unless you really need to. 8/17



OMAL S.p.A. Societa Benefit

BEpdE - EAFEHEABFTALE (BS) FHELFHFLWE (Rodengo
Saiano) , Via Ponte Nuovo XK=

HIE Hht - RARRFEAETLEE (BS) PAFHLE (Passirano) , Via
Brognolo X125

FEIE.+39 0308900145 £ H.+39 0308900423

ERTF YR BE R BB SFPITRNAL - R : REFASRNV60

SRNV960 K DA T R~ F= St fA1 it

A= B Q. MR
1 Lo L R4
2* RIK A 4 XA
3* IRIRH K 2 B&W
4 E= 1 e
5 L (X AT SRNV360) 1 hEsE
6* OB ({XFFSRNV360) 1 NBR
7* O E 2 NBR
8* @}i7:5] 1 NBR
o* O E 1 NBR
10* O 1 NBR
1 2% 1 N
12 WE T AN
13 FI & EFEM 1 mEE
14* O 1 NBR
15* EwHE 1 S5+ NBRIZK
16 HE (B8%) 1 mes
17 S 4 NN
18* OFyF 1 NER
19 Fit 1 BE
20 Loy 2 N
21 RIFE 1 REE
22 BHRE 1 PVC
23 RiFE 1 EE
24 Gt T BEW
25 LSy 2 EEAL
26* g7 T BEW
27* PR 1 R
\_ Be environmentally friendly..please don't print this document unless you really need to. 9/17


https://www.omal-automation.cn/ImmaginiProdotti/pag-549-ESPLOSO---SRNV.jpg

L N

61

2]
=)
0
r

IRSATE (VAT SRNV240)
ISR R R AR
(& E 4
RN IEAT
TEH(EE)
TEZEOTE
TERIE (R HLR)
TR A
HE
TEFE5H
wEHE
LoV
+FrEk
A
+FIBHRIBRISMT
T IBRIBR AT
%
XEBE
T O
FIfH
i O
1E 7
rilis
Seegersf4
TEZE (FRHE)
ST S
5 AR (FRIE)
H=ORE
i (bF )
4244
Ok
WREE

OB H T ({XFBFSRNV53-120-180-360)
* RERNAN

]

OMAL S.p.A. Societa Benefit

SERAE - BAFHAMERERLE (BS) FEXFFIE (Rodengo

Saiano) , Via Ponte NuovoK#HNS
HIE Hht - RARRFEAETLEE (BS) PAFHLE (Passirano) , Via

Brognolo X125

EE,i%iZB 0308900145 {£H.+39 0308900423

i
Bee
AL
E&W
RaWs
NBR
REE
P.T.F.E. carbo-graphite filled
B&H
BE&W
BEM+NBRIZR
Nz
B &5
ZYamER g
S&W
EE5
NGy
ZYERER BE
FKM
REE
FKM
ZYamE R fig
NGy
Nz
Ree
R
EEA LA
NBR
Bee
RGN
NBR
meEe
Nz

ERFRYRER R HRITRNAL - R - SRNVI920

Be environmentally friendly..please don't print this document unless you really need to.

10/17



, Via

, Via Ponte NuovoXHNS
Brognolo X125

OMAL S.p.A. Societa Benefit
P EAMHEAMEAEATE (BS) WHERLE (Passirano)

CEAFHMERERLE (BS) FEXFFFIE (Rodengo

Saiano)
EIE +329 0308900145 {£H.+39 0308900423

M
mEe
mEE
mee
mEE
meEe
hEE

A
NBR

-
2
it &Fm o
&= N
S |||~ |||~
mﬁ
(%]
=
=
®
- e
|| el I8k B
n Rk % ®

b} J i
e | =
A 4 ._1. 5
‘__—v m__m1234567mo
=

n/z

Be environmentally friendly..please don't print this document unless you really need to.

L N


https://www.omal-automation.cn/ImmaginiProdotti/pag-552-P14---GSV1920.jpg

L N

42

44
45%
46
47
48
49
50
51
52
53
54*
55
56
57*
58*
59*
60

=
0
r

O F
Ok
P2 RE
MR
PR
TEZE (FRHE)
HE
TRE AR
& E 5
1B
+FiER
%
XEBE
XK
Ha O E
HEHT)
HE L)
1R
grls
O F
Seeger 5§
H2Fe
HWTOEE
JRZEOLE
HWTROEE
O F
5| SHhA
P2 EE
TRIE ()
A (FHe)
= (%)
Y\ 5| SRR
EPREE
Fie
=
R
124e
1244
grls]
B
PR 252
Plk4T
Cipt
1244
4T
EHE
A4
e
O F
Ok
PV

p—)
N

OMAL S.p.A. Societa Benefit
REAE - EXFHMEAZRLE (BS) FELEFHFILE (Rodengo
Saiano) , Via Ponte NuovoK#HNS

BIE bt : EARFEFEAFALE (BS) PHFERNE (Passirano)
Brognolo X125

ZYERER s
B &5
A
BE5H
Nz
ZYEmE s
ZYarER g
NBR
P.T.F.E. carbo-graphite filled
P.T.F.E. carbo-graphite filled
ZYERER S
N5
NBR
N5
R
FKM
NBR
FKM
NBR
P.T.F.E. ik A=Ak}
R
E&
RaWs
RE
BEHW
Rt
BEW

O A\
=)=

EEAL
NEFR
AN
NEBR
e

oA
=)=

O,
L=1=)
O,
i,
L
BEW
NBR
NBR
NBR

N

Be environmentally friendly..please don't print this document unless you really need to.

, Via

12/17



L N

=
0
r

O FE
O HE
HE
oS
FRNIZAT
IR RIFE
B E 48
ISR R R AR
O FE
Ok
244
Ereey e
RIPE

=l

OMAL S.p.A. Societa Benefit
BB - EAMEMEAERLTE (BS) FEXGFFIWE (Rodengo

Saiano)

, Via Ponte Nuovo XIS

BIE bt - EAFEFEAFAL A (BS) MAFERNE (Passirano) , Via

el el el el el el e e e R S R R

:
* BHHERIANT

Be environmentally friendly..please don't print this document unless you really need to.

NBR
NBR
PT.F.E
i
i

e
NG,
CEAL
NBR
NBR
i,
R

oA
(=]

Brognolo X125

o VE.E_,%.+39 0308900145 1EH.+39 0308900423

13/17



OMAL S.p.A. Societa Benefit
BEpdE - EAFEHEABFTALE (BS) FHELFHFLWE (Rodengo

I Saiano) , Via Ponte Nuovo XK=
HBIE Hht - RARRAEAETLEE (BS) WAFHLE (Passirano) , Via
Brognolo X125

®

A
by "
s W
AUTOD
-—w

=
==
—
=]
=

FE1E.+39 0308900145 {£H.+39 0308900423

souam

R RTFEFPI TR

Prima di azionare manualmente, assicurarsi che I'attuatore sia privo d'aria in pressione.
Prior to operate manually, ensure that the actuator is free from pressure.

APRIRE LA VALVOLA
TO OPEN THE VALVE

CHIUDERE LA VALVOLA
TO CLOSE THE VALVE

Dopo che l'attuatore & stato azionato manualmente, ritornare alla posizione neutrale prima di riprendere I'azionamento pneumatico.
When the actuator has been manually operated, return to the neutral position prior to start normal operation.
.

Lindicatore deve essere completamente visibile e la par-
te posteriore allineata con lesterno del tubo.

The indicator has to be totally visible and its back face alig-
nied with the edge of the tube.

v

POSIZIONE NEUTRALE NEUTRAL POSITION
Con la vite in posizione neutrale, il pistone pud muoversi liberamente e Iattuaotre pub essere comandato pneumaticamente.
Whit the screw in neutral position the piston can move freely and the actuator can be driven pnaumatically.

gy p—y

AZIONAMENTO MANUALE
DANV: Quando il volantino gira in senso
antiorario, spinge la vite e i pistoni verso
linterno. La valvola si apre.

SRNV: Quando il volantine gira in senso
orario, spinge la vite e i pistoni verso l'inter-
no. La valvola si chiude.

MANUAL OPERATION

DANV: When the handwheel turned counter
clockwise, pushes the screw and piston
inwards, The valve opens,

SRNV: When the handwheel turned clockwise
pushes the sciew and piston inwards. The val-
ve closes,

AZIONAMENTO MANUALE
DANV: Quando il volantine gira in senso
orario, tira la vite e i pistoni verso l'esternc.
La valvola si chiude.

SRNV: Quando il volantino gira in senso
antiorario, tira la vite e i pistoni verso ester-
no. La valvola si apre,

\__ Be environmentally friendly..please don't print this document unless you really need to.

MANUAL OPERATION

DANV:  When the handwheel is turned
clockwise, the screw and piston are drawn
outwards, The valve closes,

SRNV:  When the handwheel is turned
counter clockwise, the screw and the piston
are drawn outwards. The valve opens.

14 /17


https://www.omal-automation.cn/ImmaginiProdotti/QsXb9O_utilizzohandwheelomal2021.jpg

L N

®

AUTOMATION

SCHEMA DI FUNZIONAMENTO

Senza pressione di alimentazione, nella versione semplice effetto, I'at-
tuatore torna automaticamente in posizione di riposo compiendo una
rotazione oraria e la posizione finale & quella rappresentata nel disegno.
Sul foro 2 & consigliato montare un filtrino onde evitare che polvere o
particelle solide possano entrare nella camera del cilindro senza tuttavia
impedire il passaggio dell'aria.

WORKING PLANE

Without air supply, the spring return actuator returns to its resting position, rota-
ting in a clockwise direction. The drawing shows its final position.

We assembling a small filter on the air connection 2 to prevent dust and parti-
cles into the cylinder chamber without, however, preventing the passage of air.

OMAL S.p.A. Societa Benefit
BEpdE - EAFEHEABFTALE (BS) FHELFHFLWE (Rodengo
Saiano) , Via Ponte Nuovo XIS

HE it  BARHEMERETLE (BS) PHFIHIE (Passirano)

, Via

Brognolo X125

FEVE.+39 0308900145 £ H.+39 0308900423

DWlMEIVIA FUVNLAIVINVANIENIV ALHTVAILTVERLD FINRLVIVIALIWVWW AW O

WORKING PLANE PNEUMATIC ACTUATOR AGO “SR” TYPE

SCHEMA DI FUNZIONAMENTO

Immettendo aria nel foro 4 di alimentazione, i pistoni si muovono
verso |'esterno comprimendo le molle, si ha una rotazione antioraria e
la posizione finale & quella rappresentata nel disegno.

WORKING PLANE

Supplying air through the air connection 4, the pistons move outwards
pressing the spring. An anticlockwise rotation takes place and the final
position is shown above.

ATTUATORE REGOLABILE-ISTRUZIONI PER L' UTILIZZO ACTUATOR WITH STROKE ADJUSTMENT-INSTRUCTIONS

\ CHIAVE C
\KEYC

-
\

A) Verificare che le molle siano in posizione di riposo osservando la chiave dell’albe-
ro (part. n°1) come da disegno e controllando che nel foro “D" non ci sia pressione.
B) Togliere i controdadi (part. n°3) agendo sulla chiave C.

€) Con un cacciavite avvitare le viti (part. n°2) in senso orario ed effettuare la limita-
zione di corsa desiderata.

N.B. La corsa pud essere limitata per un massimo di 10° da 80° a 90°

D) Immettere aria nel foro“D” e verificare che entrambe le viti (part. n°2) siano a bat-
tuta contro i pistoni (part. n°5).

E) Bloccare i controdadi (part. n°3) muniti di O-ring (part. n°4) per la tenuta tra con-
trodado, tappo e vite.

N.B. queste spiegazioni sono indicative, per le istruzioni operative, vedere il manuale.

A) The springs must be at rest position, the shaft (part. 1) must be as shown in the dra-
wing. Air connection D must not be supplied with air.

B) Remove the counter-nuts (part. 3), acting on C key.

€) By means of a screwdriver turn screws (part. 2) in a clockwise direction until you
obtain the requested end-stroke regulation.

Note: maximum adjusting stroke 10 ranging from 80° to 90°.

D) Supply connection D with air pressure and check that both adjusting screws (part. 2)
stop the pistons (part. 5).

E) Screw the counter-nuts (part. 3) and their O-ring (part. 4) to keep nut and cap tight.

N.B. these explanations are indicative, for operating instructions, see the manual.

Be environmentally friendly..please don't print this document unless you really need to.

15 /17


https://www.omal-automation.cn/ImmaginiProdotti/Schema-funzionamento-AGO-SR.png

i)
20
g
=

L N

OMAL S.p.A. Societa Benefit
BEpdE - EAFEHEABFTALE (BS) FHELFHFLWE (Rodengo
Saiano) , Via Ponte Nuovo XIS

& - EAFENEAEATE (BS) WHFEHLE (Passirano) |, Via
TOMATION Brognolo X125

FEIE.+39 0308900145 £ H.+39 0308900423

Be environmentally friendly..please don't print this document unless you really need to. 16/17



OMAL S.p.A. Societa Benefit
BEpdE - EAFEHEABFTALE (BS) FHELFHFLWE (Rodengo
Saiano) , Via Ponte Nuovo XIS

A
..

. AU BIE b - EAFIEFEMRZALEE (BS) PAFEHE (Passirano) |, Via
~

r

TOMATION Brognolo X125

FEIE.+39 0308900145 £ H.+39 0308900423

-~ 11—

Certificati

ATEX - Pneumatic Actuators
SIL EN 61508 - Actuators: SR, SRN, DA, DAN
Type Approval Certificate for Marine and machinery systems and equipment

Istruzioni
ISTRUZIONI ATEX UITGOGOTATX
Manuali

MANUALE UMAAPVOO

\_ Be environmentally friendly..please don't print this document unless you really need to. 17 /17


https://www.omal.it/FilesProdotti/RICEVUTADEPOSITOF.T.ATEXN.AP-18.pdf
https://www.omal.it/FilesProdotti/34-Certificate-202029301-OMAL-AttuatoriSRSRNDADAN.pdf
https://www.omal.it/FilesProdotti/TAP00001G5-revision1.pdf
https://www.omal.it/FilesProdotti/UITG0G01-UITG0G01ATX-FogliettoIstruzioniAttuatoriAGO.pdf
https://www.omal.it/FilesProdotti/UMAAPV00-AGOHANDWHEEL-attuatoriconvolantinointegrato-IT.pdf

	Certificati
	Istruzioni
	Manuali

